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	2. Factor (Hint-factor GCF first)
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	3. Solve the equation by factoring
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The area of a rectangular piece of carpet is represented by the
expression 20x* —151% +35x*. If the width of the carpetis 51,
which of the following could represent the length of the carpet?
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4n*=3n+7
4n° =30 + 7n*
4n’ =3n

154% =101 +30
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Which of the following algebraic expressions could represent
thirty less than one-half the value of x?
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What is the slope of the line 4x — 8y = 20?
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A section of a hiking trail begins at the coordinates (-7, 5) and
follows a straight path that ends at the coordinates (3, 9). What is
the rate of change of the hiking trail?
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What values of x makes the inequality true?

2(x-4)-9x<-4x+13
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x2 - 36
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4x2 - 100
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x2-12x+27=0
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Simplify: 5.9 - 2¥64

A -9
B -1
4 7
D 52




